41. Zooplankton is n
(A) Producer

| Monsmner

(C) Decomposer

(D) None of these

42. Acid rain is caused by —

(A) Water Pollution
\_(Bj/ Air pollution
(C) Soil pollution
(D) None of these

43. In the stratosphere, oxygen 1s converted to. 0zone by —

(A) o-radiation
(B) infra-red radiation

J,Q)/ UV radiation

(D) None of these -

44. The external solid part of the earth’s surface is called — 5
(A) Atmosphere | | ;.

(B) Hydrosphere | =

- (&Y Lithosphere fsz:
(D) None of these : . - ;)
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45. The Second Earth Summit was organized in —
(A) Geneva

BY Rio-de Janeiro

(C) Johanesberg
(D) Los Angeles

46. Solar cel] js made up of —

(A) Cadmium
“®B) Silicon
(C) Iron

(D) None of these

(B) Inert gases
(C) Halogens

(D) None of these

48. The environment Includes —

(A) Abiotic factors

(B) Biotic factors

(C) Oxygen and Nitrogen
(D) Abiotic & Biotic factors
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49. Which of the following diseases usually spreads through air?
(A) Plague

(B) Typhoid
(C) Cholera
M Tuberculosis

50. Which of the following processes does not increase the amount of carbon-di-
oxide in air? | :

(A) Breathing
(B) Buming of petrol
| &C)’ﬁhotbsynthesis
(D) None of these
51. Photochemical smog causes problems n —
(A) Vegetation 1 -
(B) Animals
(C) Building materials

B All of these
e W

< =

52. Chronic exposure to arsenic causes — =
(A) Fluorosis r— <C

JB{ Black foot disease o

) 2,

(C) [ta1 ital J :“‘?}._Il

I\&C_‘;ﬁﬁz’l’j

(D) Blue baby syndrome N
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53. Which of the following is a secondary air pollutant —
(A) Carbon-di-oxide

(B) Carbon monoxide
(2J Sulphuric acid
(D) Sulphur-di-oxide

>4. Germplasm bank is a kind of —

. (A) Ex-situ conservation
(B) In-situ conservation

(C) In-vivo conservation

(D) None of these

55. The term Ecology was coined by —

_(AX) Bhrnst Haeckel
(B) A. G Tansley
(C) Charles Darwin
(D) E. P. Odum

56. In the biosphere the energy is received from —

,{A/)Thesun

(B) Interior of the earth
(C) BothA & B
~ ) D) Neither A nor B
N Ml DUAL LAMESIN
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(B) LithOSphere

- &) Biosphere

(D) MeSOSphere

58. The example of 3 terrestrial ecosystem is —

_{A) Forest
(B) Rivers

(C) Oceans
(D) All of the above

9. Actively moving organisms in aquatic ecosystem is called —
(A) Benthos

V(Br Nekton
(C) Phytoplankton
(D) None of these ‘

60. The ecological pyramid which can be mnverted n tree-ecosyéfzérrg‘f'};is

2

L
)
ot

J)

(A) Pyramid of number

B i 1 e Ol
| fors = Fr™y | 0
L W

LA | L A
|, | L 1
) "'\-_r"'r , o

(B) Pyramid of energy L =
J,Q’)/ Pyramid of biomass | | ( )

\
_ -

(D) Both ‘B” & ‘C \_/
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